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Topic:- General Studies

1) Pointing to the lady in a marriage function, Anita said, ‘She is the sister of the father of my

mother’s son’. Who is that lady to Anita?/ Wwa?mﬁ Wﬂﬁwﬁéﬁ?mmgﬁmﬁ
Tgl, ‘a8 A9 61 & T & frar A 951 71 9w, sriar A 2

1. Aunt/ §s1T

2. Mother/ﬁf

3. Niece/‘l-l?ﬁ\_rﬁ
4, Sister/dg
Correct Answer :-
o Aunt/ g3

2) DIRECTIONS: In each of the following questions, a series of figures are given. Select from
amongst the alternatives one set of groups into which the figures can be cIassified./ﬁIﬁ'&T:ﬁl’H

Y H, Tpfadl $t P gaar Y T § | el # A 9ggl & Ue auwy &1 9ae B o snpfadl &Y aifed
forar o Jwar 81

| O£ |D|O|A| Ol | @

n 2 3 (4) (5) (6) n 8 )]

1.7,4,6; 2,1,3; 8,9,5
2.7,4,3; 6,1,9; 8,5,2
3.7,2,5; 8,3,4, 9,1,6
4.8,3,4; 5,2,1;9,7,6
Correct Answer :-

- 7,2,5;8,3,4;9,1,6

3) DIRECTIONS: Find the related group of letters from the given alternatives./ﬁﬁ?{r; fegw
faweg & Haftra e &1 9Hg I B

MVFG : PYI] :: IPBY : ?
1. LSEB

2. KMCW

3. KMDV

4. LMDX



Correct Answer :-

- LSEB

4) DIRECTIONS: Solve the number series given below./ﬁlcf‘\’r: ﬁ%aﬁﬁm it B gA B}
4,12, 36,108, ?

1. 156

2.324

3. 260

4. 242

Correct Answer :-

« 324

5) DIRECTIONS: Find the related number from the given alternatives./ fAdxr: fou e fawei 4 @
eI T g B

64 :513::144:?
1.1729
2.1730
3.1728

4,1731

Correct Answer :-

« 1729

6) Select the correct combination of mathematical signs to replace * signs and to balance the

following equation. /3T 7T Tl &1 Jgferd H3 & e * fIgl & S R iR dadi o1 gat aare T g4l
8*6*96*2=0

1.- x +

2.+ - X

3. X + -

4.% - +

Correct Answer :-

« X -+

7) If in a certain code ‘FIND’ is coded as ‘MKLJ]' and ‘MUDS’ is coded as ‘EOJC’, how will ‘DUSM’
be coded in the same code Ianguage?/ﬂﬁmﬁﬁﬁfdwﬁ, ‘FIND’ &I ‘MKLY’ Tﬁ‘dﬁ"ﬂT\_ﬂﬁT%
3R *MUDS’ F1 ‘E0IC’ FHfed forar wiman 2, It peumwr &, ‘DUSM’ Fi fr R Hfed farar g2

1. JOCE
2. DKJP
3. TOP]

4. DKPJ



Correct Answer :-

« JOCE

8) Father is aged three times more than his son. After 8 years, he would be two and a half
times of his son’s age. After further 8 years, how many times would he be of his son’s age?/

TOrar Y 3y IUF T Ft 3y Tt 9 T 31t 31 8 o uyTa, 97 Srum T B 3MTg BT &1 AT ERI I IFS 3R 8 T
YT 98 39 T B 3 BT fba A1 gRm?

1. 3 times/3 T[T

2.2 times/2 AT
2 ! 2 !
3. 2times/ 27l
2 2 2 ’
4. %times/ 4T
Correct Answer :-
« 2 times/2 T[T

9) A container contains 40 kg of milk. From this container, 4 kg of milk was taken out and
replaced by water. This process was further repeated two times. How much milk is now there

in the container?/ U& U & 40 fHuT g4 81 59 U7 A 4 f5w gy &1 a1ex e wan ok 399 9ed 4 fHur urit
foyemar a1 39 withar ®1 g 2 IR fHar wan o Ut W fhae e g 82

1.29.16 kg/ 29.16 fur
2.20.8 kg/20.8 farun
3.21.5 kg/ 21.5 fur
4.24.8 kg/24.8 foa

Correct Answer :-
« 29.16 kg/ 29.16 fu1

10) By selling 112 m of cloth a merchant gains the selling prices of 48 m of cloth. Find his gain

%: /TH ATIR &) 112 HeI FUST I W 48 Wi HUS & fIhd Yo & SRIaR a1H U il 8 | SHP ATH BT
af=ra 1d S|

1. 75%
2.60%
3.52%

4.56%

Correct Answer :-

« 75%

11) In a class of 42 children, Joseph’s rank is sixteenth from the top. Kelvin is seven ranks
below Joseph. What is Kelvin’s rank from the bottom?/ 42 =i 31 TP H&l #, 9% I Ib g A
Tagdl 81 Bfeas1, SRw 3 91a 3@ 1 3 1R @ i st s wn g

1. 23"/23qt



2. 22nd/22at
3. 20t/20gi

4, 19%/19af

Correct Answer :-
. 20th/20at

12) If four evaluators can examine a certain number of answer books in 8 days by working 5
hours a day, then for how many hours a day would two evaluators have to work in order to
examine twice the number of answer books in 20 days?/ﬂﬁﬂﬂ&?ﬂiﬁ Sftrert 8 A ufafem 5
e BT HYd U Hidd G & IR YRaa18il &1 geich1 & Iohd 8, df 20 &1 # g graia+ siftrefval &t
IAD! SR T=AT | IR YREAB134 BT i w3 & g ufafes fras 9 w19 w==m gim?

1 1
1. ?Ehours/?g‘a’%

2. 8 hours/ 8 e
3.9 hours/ 9 ©¢

4. 6 hours/ 6 e

Correct Answer :-

. 8 hours/ 8 ©¢

13) Anika goes for her morning walk at 6 O’clock towards east for 2 km, then she turns to her
right and walks 3 km. She again turns to her left and walks 2 km, finally she turn to her left to
walk another 6 km. In which direction is she moving from her starting point?/&lﬁﬂ)‘l Wﬁ'\ﬂ'\’

¥ fog 6 oo gd fa=m 1 ik 2 it gt 3,fhr a8 giw gedt @ ok 3 it gadt 81 98 fbr @i et @ ok 2 feft
Tadt g, 3 # ag o= a1l 3R gedil @ 3k 6 frft et 81 98 Sud wrRfie fig A frw fezm A @2

1. North-East /B?R-Uﬁ

2. South-West /Gf&or-ufgm
3. North/3aX

4. East /tlj

Correct Answer :-

« North-East /StR-gd

14) A sells a good to B at a profit of 20% and B sells it to C at a profit of 25%. If C pays Rs.225
for it, what was the cost price for A?/A <l a5 &1 B B 20% HAATHT AH 99 a1 8 94T B,
C ¥ 25% THATHT AFR 98 I 99 ¢aT 8| I C BT 225 YA HIATUS, O A BT HT YT FIT UT?

1.Rs.150/%.150
2.Rs.125 /3.125
3.Rs.100/%.100

4.Rs.175/3%.175

Correct Answer :-

» Rs.150/%.150



15) Two taps A and B can fill a cistern in 45 minutes and 60 minutes respectively. There is
third exhaust tap C at the bottom of the tank. If all the three taps are opened at the same
time, the cistern will be full in 40 minutes. In what time can exhaust tap C empty the cistern

when it is full?/3 98 A T B T® <& I HHI: 45 A< 3R 60 e # 4R God € 1< &1 acil # ve e 74
c 21 afe g3t i 7 &1 v Try Wi fear S @t St @) RT WRA | 40 e &1 9wy @i fFan wwa § Fer
9 € Ut g5 <l Y Wt B A?

1. 74 minutes/74 e
2. 76 minutes/76 fire
3. 75 minutes/75 fiAe

4. 72 minutes/72 fiAe

Correct Answer :-
« 72 minutes/72 fie

16) The salaries of A, B and C are in the ratio of 1: 3: 4 respectively. If their salaries are
increased by 5%, 10% and 15% respectively, then their increased salaries will be in the ratio
of:/ A, B 4T C & Ja $T 3JUTd HHTT: 1:3:4 T1 TfS I a1 § HHIM: 5%, 10% TUT 15% Pt I B 91T,
At 3% 9¢ §U Aq BT HHRT: 3JUTd TR

1.11:66:92
2.21:66:92
3.21:66:95
4.24:66:95
Correct Answer :-
¢ 21:66:92

17) How many triangles are there in the given figure./d 73 3mefa & fraq Ays g1

ANEEVANIVAN
[N NE N

1.7

2.11
3.8

4.9

Correct Answer :-

18) A train 300 meters long is running with a speed of 80 kmph. In what time will it pass a
man, who is running at 15 kmph in the same direction in which the train is running?/ T& 300

Hiex @t 21 80 fotft wft v Ft i A g ¥ 81 98 P amw A g ez @ 15 Pty e A s R ue
i B IR Hait?

1. 13.615 seconds/13.615 TS
2.15.615 seconds/15.615 YHUS

3.12.615 seconds/12.615 AHTS



4.16.615 seconds/16.615 YHUg

Correct Answer :-
« 16.615 seconds/16.615 Y&US

19) Find the value of * for which 4832*18 is divisible by 11?/ * &1 dg HF JTd ®1fe¢ forge forg
4832*18, 11 A fquia g2

1.6
2.5
3.7

4.4

Correct Answer :-

20) Which one of the following numbers is not a square of any natural number?/ﬁ?ﬁﬁaﬁ??ﬁ

TS e P wipfae wen &1 atf 7 82
1. 18225

2.63592

3.17956

4.53361

Correct Answer :-

» 63592

21) CANCELLED

In a non-impact printer like Inkjet, the ink droplets are deflected by -/ mzﬁﬁﬁrmq“ﬁ-gcﬁae
iR ¥, Wt st g gRT faafa gt 71

1. Laser plates/ ook &1 el

2. Electro-magnetic forces/ fagad gae i aai

3. High pressure nozzles/ 3= g&1d $1 A1
4. Multi directional nozzles/ ¥g-faRTeTa AferamTait

Correct Answer :-

« Multi directional nozzles/ §g-fGITd® Afeib1an

22) CANCELLED

is a domain name that has at least one IP address associated./ et sMa H1AH
%qum%mwm@qmﬁmél

1. System name / Reqd &1
2. Top-level domain/ Y-t SAA

3. Host name / @EW:HT{



4. Server name /Wﬁ:ﬂﬂ

Correct Answer :-
¢« Host name / @EWHTH

23) Content holders on a slide that hold the text are called:/ WWTE’GWW W\‘rﬁé’ﬂ'&’ﬂﬁﬁmﬁ'
39 PHEISATAT 2|

1. Text holders/ ToRe BIeeX

2. Text boxes/ TRE i

3. Place holders /@H'&ﬁ?&ﬁ
4. Auto layouts /&ﬁ'@f?féﬂ?fdﬂ

Correct Answer :-

« Place holders / @9 gIgd

24) From the given alternatives select the word which cannot be formed using the letter of the

given word. /3T 7T fdwenl A | 39 Weg &1 799 HY o AT T 2reg & qvf &1 IUANT Hd TS I9TEan W Fhe|
ESTABLISHMENT

1. TABLE

2. TENTS

3. STATE

4. BLUNT

Correct Answer :-

25) DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance from commonly known facts.
Read the conclusions and then decide which of the given conclusions logically follows from the given

statements./ f321: 1R 33 7T vy B, $© FY7 R 39F A $o Frepd AT 7w B 1 syt Ry T Hy= # W AT
3, ua 3 wdgma aat ¥ fim welta 811 fre el 31 ufen sk fiky au Fifvie fs wia-wn freed 3w e syt &1 adbwa
Y Y TRV HIT 2|

Statements:/ $YH:

All laptops are keyboards./ Tt duery FAE g1
Some radars are laptops./ W?@ﬂ?ﬁ'ﬂﬁq%l

All monitors are radars./ H*ﬁﬁﬁ???@ﬂ%l
Conclusions:/ e

I. All monitors are keyboards./ 9} Aifaez 191 &1
II. Some monitors are laptops./ & HIfNeI AT 8|
II1I. Some keyboards are radars./ Wﬁiﬁ%‘w%l
IV. All radars are keyboards./ K‘fﬂ-ﬁmﬁiﬁéﬁl
1.Only I and III foIIows/av—clT*II 3R 111 WWW%
2. Only III follows/&ad 11 S{IERUI BT §



3. Only II follows/dad 1T 3TIR0T Il §
4. Only I follows/&dd I 3{TERUI HRT &

Correct Answer :-

« Only III follows/3ad I11 3R HdT §

26) AfefiERr T {3 wifewy & fpw wrores & wefta @ -
1. YRdg T
2. BITAIGIRR BT

3. fgadign
4. IR YD BT

Correct Answer :-

27) 3R H Ot STAAT — YETaR BT ARA B
1. 89 Pl

2. P1Y DAl

3. P18 | YT g1 ST

4. 1Y DI TGTAT ST

Correct Answer :-

. PIY DI FGIaT T

28) ‘qTAITAE UG § HHII ©
1. SRITHTT

. FHYRY

3. f81

4._8;_;;

Correct Answer :-

29) -3rq F ST TG BT — AR B :
1. Fvea®

2. SHAD
3. b dardd



4. Hbhadrd®

Correct Answer :-

. Fyars

30) g IUTSYT USITad | ot T ¥ — arr H i R
1. faRreor Taeht

2. T el

4. Tobar Taieht

Correct Answer :-

. g9 et

31) ‘AHGERT VoG STEXVT 2 :
1. Hgara® Jag Bl

2. OIS YT bl

3. SAdIdIdd YUY Dl
4. TJUIdT b YAY hl

Correct Answer :-

. Hqdrad T B

32) PHUST BT YGiaaT 1 @ :
1. 3R

2.4lcd

3.Uc

4. 9R

Correct Answer :-



Correct Answer :-

. Ofget gt & sfaia

34) ‘T HIIARVT AT :
1.@

2.dlg
3. 318

4. DS

Correct Answer :-

35) Fafafa A gsaa g

1. g3 I8 HTH ] BT

2. TR P UTA: IS 3BT AT B |

3. GHD!, D! 3R T B 3a<g W 8|

4. 5l G TR Hd B |

Correct Answer :-

- S g8 D1 eI B

36) fmifera A IS < © -
1. RISl

2. 3 gt

3. A&

4. {ATNAD

Correct Answer :-

. 3ad gt

37) FgifPd A dH IS © :
1. gelRk

2. PR
3. THBR

4. IR

Correct Answer :-



38) fogiferd W A6t WE-FU R :
1. S gt

2. 3afY-3fael

3. D AR-h Y

4. Sufa-ud

Correct Answer :-

. 3ad g4

39) fgifea o frm g 1di 8
1. GE%I I g

2. G IR

3@%%’6’

4. 3{YfARTH

Correct Answer :-
. O g

40) BT T “31&r BT AT A @ :

1. Hddl
2. Gl

3. 31

4. IR BT O[T

Correct Answer :-

41) The tourist places of Taj-ul-Masjid, Gauhar Mahal and Van Vihar National Park in Madhya
Pradesh are located at . / 9 U & A191-39-AfKAG, MeX 7o 3R a7 fagr I sa= &
e ww FfR@ R

1. Indore / 3GR
2. Bhopal / T

3. None of these / 370 § PIs gl
4. Gwalior / TR

Correct Answer :-

« Bhopal / T



42) The total production of 10 tea estates is 550 tonnes. By opening two new tea estates, the
average increases by 3 tonnes. The average production of these two new tea estates (in

tonnes) is:/ 10 I IRTHI BT Fd IUTGH 550 & 81 &t 7T IR B F3HTd & q1G 3iad # 3 e o1 g et 31
9 GIFI 1T IRTH T 319d SdTe (@9 ) @

1. 64
2. 67
3.70

4.73

Correct Answer :-

43) IN GUI Operating Systems, the blinking point at the start of a word/text is called
/ Sgang TR Rew #, T Wsg/dRe $t oaura A feufenm ara fig &t PETATAT g |

1. Pointer/ @Wgex
2. BIinker/%viW
3. Causer / HRR
4, Cursor /W

Correct Answer :-

« Cursor /W

44) A and B entered into a partnership, investing Rs.16,000 and Rs.12,000 respectively. After
3 months, A, withdrew Rs.5000, while ‘B’ invested Rs.5000 more. After 3 months more, C joins
the business with a capital of Rs.21,000. After a year, they obtained a profit of Rs.26,400. By
what amount does the share of B exceed the share of C?/ A 3R B HHYIT. 16,000 T4 %. 12,000
A= oY U § Wi $RA 8| 3 WA A1E A, ¥. 5000, f®Ta A1 8 919 B’ 3. 5000 SR 3if¥as fa=r Hvan
2] e T AR 91 €, ¥. 21000 & HIY HTHT A A g ST 8| Tob A1 & 3id § AqIqg § 5. 26400 BT
ATET T ST 8| B &1 31, ¢ & R | fpam arfires @2

1. Rs.3800/%.3800
2. Rs.3600/%.3600
3. Rs.4600/%.4600

4. Rs.4800/%.4800

Correct Answer :-
« Rs.3600/%.3600

45) What is the shortcut key to insert current date in a cell?/ Wﬁﬁﬁﬁl@ﬁfﬁl@ﬁﬁ%ﬁﬂ!
e Poil FTE?

1. CTRL+;

2. CTRL+D

3. CTRL++

4, CTRL+T



Correct Answer :-

46) Cerebral hemispheres are the centres of/m'ﬁﬁmmaﬁﬁ%%l
1. Posture and equilibrium/ 3 3R I

2. All of these/IuRIad Tt

3. Reflex actions/SidTst HRATS

4. Thinking and memory/dd 3R ArEgRa

Correct Answer :-
« Thinking and memory/3 3R ATeerzd

47) Which city of Madhya Pradesh got the first robot in India to control unruly traffic? / Cac k)|
¥ URd # YW IR Irarard &) fFafia w33 & fore Adie &1 Suah fear g2

1. Indore / $GR

2. Jabalpur / SI§elqR
3. Bhopal / uare

4. Gwalior / TTfeRR

Correct Answer :-

« Indore/ Ea?

48) According to the Census 2011, which district of Madhya Pradesh is the most densely
populated district in the state? / SRIUAT 2011 & AR, T U BT S AT forar Iy & Fad v+t
3rard! arer forar 82

1. Indore / &R

2. Bhopal / Hare

3. Dhar / 4R

4. Hoshangabad / BIRITETG

Correct Answer :-

« Bhopal / T

49) A ray of light travelling in air is incident on the plane of a transparent medium. The angle
of incident is 45° and that of refraction is 30°. Find the refractive index of the medium./T&

WHT B {201 a1y H g7 g3 UReRIT Areqy I a wR Smufad gidt 1 mufaa w1 45° 3R Sruad= 11 30° §,
IS $T AUTAD FABTP FTd B3~

1. V2

1
2. V2
3.2

4.1



Correct Answer :-

50) A ray of light falls on one face of an equilateral glass prism at 40° and emerges from the
other face at the same angle. The deviation suffered by the ray is:/wmﬂﬂmwm

Hia F AT IR 40° W eRT B, 3R g BR (Wag) A I 101 R 918 FAwpardt 21 f6=or &1 farmge= g1a S|
1.20°
2.60°
3.40°
4. 80°

Correct Answer :-

51) Where was the International Herbal Fair held in Madhya Pradesh in December 20172 /

feRiaR, 2017 & AoV § o1 R SRTPTA g A smafora fvar wam ur?
1. Indore / $&R

2. Jabalpur / SdeqR

3. Bhopal / Hiu@

4. Gwalior / IR

Correct Answer :-

« Bhopal / T

52) Key board short cut to switch between the open items is:/ d §U 3TgcH & S 3GA-dGd I &
forg #1-a91S I idHe 8:

L. ALT + Tab

2. CTRL + Tab
3.Tab

4. ALT + Enter
Correct Answer :-
e ALT + Tab

53) A device that connects to a network without the use of any cables is called-/ fa=1 f&<ft Faa

BT UGN 58 §U U fSaga ol frdft Acab AvisA @ weTam@rgl
1. Wired / 9108

2. Client/ ¥aTge

3. A server/ U@ JaR

4. Wireless/ araRad

Correct Answer :-



« Wireless/ IR

54) The present Governor of Madhya Pradesh was the former Chief Minister of J 9

WA FIEAEAITEIT_ »qd gt Al
1. Chhattisgarh / &8¢

2. Haryana / gRamn

3. Gujarat / TeRId

4. Punjab / USIl9

Correct Answer :-

o Gujarat / TeRId

55) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

Cream cakes are (a)/ an last thing you should eat (b)/ if you're on a diet. (c)/ No Error (d)
1. (b)
2. (d)
3. (a)
4. (c)

Correct Answer :-

56) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

Each and every one (a)/of the flowers has (b)/its own colour and smell.(c)/ No Error (d)
1. (b)
2.(d)
3. (a)
4. (c)

Correct Answer :-

57) The structural formula of ethyl ethanoate is: /SYTOd gmmmw%—
0
) CH3CH; —C—0CH;
0

, CHa—C—0CH;CH;



0
I
3 CH3CHy =—C=—0CH;CH3
0]
[
4 CH3— C—0CH;z

Correct Answer :-
0
CH3=—C—0CH;CH3

58) An element X belongs to group 14 and 2nd period of the periodic table. Its atomic number

will be-/T& a@ X, 9 14 7 3fTad 2 § 31ad TR & Uar SITdT 8 | SHHT URHTY] 5 gHIT|
1.15

2.6

3.14

4.7

Correct Answer :-

« 6

59) Which of the following Madhya Pradesh Government Departments has been made the
nodal agency to execute the Ek Bharat-Shreshtha Bharat Yojana? / Frafafe 3 fow aaud=r
WHR FAUNT H T URT AT YRS T B S0 31 F e Arsa wolwd! a=man T g2

1. Department of Culture / I¥hid faurT
2. Departments of Culture and Tourism jointly / TXpfd 3R Tde UM Tgad U
3. Department of Tourism / Gded faHTT

4. Department of Higher Education / 3 TR faumr

Correct Answer :-
« Department of Higher Education / 3= e fqumr

60) Which of the following is celebrated as “Word AIDS Day” ?/378 9 &9 91 fdaw “faza vgw
feaw” & 3u o 9T ST 8-

1. December 1/1 fGEmR
2. November 1/1 dd&R
3. September 1/1 fqam=R
4, October 1/1 3fdgsR

Correct Answer :-

« December 1/1 R

61) Which of the following is the oldest gharana? / sﬂﬁﬁﬁqwmmmﬁ?



1. Indore Gharana / SER WM
2. Bhopal Gharana / TS ORAT
3. Gwalior Gharana / TaIfeRIR TR

4. Maihar Gharana /fIET‘ER'Fﬂ

Correct Answer :-

« Gwalior Gharana / TaTferoR TR

62) Which of the following is not a translator of a programming language?/ fafafadde=
TR HTST BT Srgare® T8l 82

1. Assembler/&@ﬁ?ﬂ

2. Compiler/$%UgeR

3. Interpreter / EQRU LIy
4. Loader / @ISR

Correct Answer :-

e Loader/ e

63) Which of the following places of Madhya Pradesh is also known as ‘Satpura ki Rani’? / 9

w1 & fraforfa vl & ¥ &9 a1 'JaR® a1 I & T ot S emarg?
1. Jabalpur / &R

2. Mandu / AT

3. Pachmarhi / Ga#gt

4. Madhai / /g3

Correct Answer :-

« Pachmarhi / GaHgt

64) Which of the following folk songs is/are sung in Madhya Pradesh? / Aeg Uex # fRgfafad aie
el & ¥ S1=-1 I S 82

1. Bhartrihari / ll?‘j'sﬁ

2. Both Bhartrihari and Sanjha / HdJgR 3R 7= gt
3. Sanjha / HT'SEIT

4. None of these / T70 4 ®Is gl

Correct Answer :-

« Both Bhartrihari and Sanjha / ¥dgR 3R Tz gt

65) Which of the following is e-commerce? /fAUfiaf@a # A s-wrad w7 g2
1. Sale of goods/ AT P! faeh! H=AT

2. None of the above / IWRIad # ¥ &®Is gl

3. Doing business electronically / 3Aaci<® U I SIGHR™ HAT



4. Doing business / IddI HRAT

Correct Answer :-

« Doing business electronically /WW@WW

66) Which of these words can be used as both verb and noun?
1. Broadcast

2. criticize

3. Appreciate

4. Avoid

Correct Answer :-

« Broadcast

67) The area of a square is 196 sq. cm. whose side is half the radius of a circle. The
circumference of the circle is equal to breadth of a rectangle. If perimeter of the rectangle is
712 cm, what is the length of the rectangle?/ Wﬁﬂ?ﬁm 196 EITfﬁTﬂ?I ﬁlﬂ?ﬁ'ﬁﬂ@ﬁﬁ
ﬁvq%aﬁamﬁ% | g9 Y ulRel U Smad o NeTs F TRIaR 31 Al 3mad w1 uRkumg 712 I R, O 3mad Y aars
H5?

1. 186 cm/186 IHT
2.190 cm/190 Gt
3.180 cm/180 4l
4,196 cm/196 T

Correct Answer :-

« 180 cm/180 !

68) Glucose gets converted into pyruvate in/ WEﬁ'ﬁ{, umﬁ?ﬁuﬁaﬁaﬁm%-
1. Muscle cells/U=R SIfRreT H

2. Mitochondria/ATgc i@ a &

3. Cytoplasm/mﬁ

4. Yeast/IﬂEff

Correct Answer :-

« Cytoplasm/JgeI@RA &

69) Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives
are suggested. Choose the correct alternative out of the four.

One must use best efforts if wishes to succeed.
1. one’s, one’s

2. one's, one

3. 0ne, one’s

4. his, them



Correct Answer :-
« one's, one

70) In which of the following places of Madhya Pradesh is one of the twelve Jyotirlingas of

India located? / 944 YR & fAafif@d Il # & gl WRd # fRya IR Saifafen § 9 v g2
1. Bhopal / HIUTd

2. Dhar / 4R

3. Ujjain / S

4. None of these / ST8 I H1g &l

Correct Answer :-

. Ujjain / =i

71) In which district of Madhya Pradesh is the Chachai Falls situated? / He U & fpy fora o
TS Bied AT 72

1. Chhindwara / f&=garer

2. None of these / 378 ¥ ®Is el
3. Rewa / dfar

4. Chhatarpur / QR

Correct Answer :-

« Rewa / a1

72) _  are commonly found in web pages. /_ann?ﬁ?wéaﬁﬁrﬁ'mﬁnﬁ%l
1. Hyperlinks/ BISURIcaT

2. Links/ﬁiTﬂ

3. All of the above / ITRIad Tt

4. Hyper texts / BW%?REH

Correct Answer :-

« All of the above / IWRiad I+

73) The discipline dealing with the study of inheritance is: /3% T forad favrTa & 9 A sreg= foran
ST 8-

1. Genetics/SHfeaT
2. Morphology/&ﬂ?ﬁﬁﬂﬁ
3. Cytology/d SIS

4. Evolution/sANTd 3-fd

Correct Answer :-

« Genetics/SHiead



74) A certain sum at certain rate of simple interest p.a. becomes ¥1,344 in 4 years. The same
sum becomes ¥1,416 in 6 years at same rate of interest. Find the principal and rate of

interest? /t® fAf¥d 3 o FAif3a aiffe IR s #1 R T 4 9 & 21,344 S 1A g, U TG ARNIH R
T 6 af ¥ 21,416 B STl 8 | AU TUT &R FId HIfog?

1. 71,200 and 4% P.a./ ¥1,200 3R 4% aIf¥&
2.31,200 and 3% P.a./ ¥1,200 3R 3% de
3.31,100 and 4% P.a./ 31,100 3R 4% de

4.%1,100 and 5% P.a./ 31,100 3R 5% die

Correct Answer :-

« %1,200 and 3% P.a./ 31,200 3R 3% dT¥d

75) In exothermic reaction, the reactants/mzﬂﬁuﬁmﬁ, MPRS| BT
1. Have less energy than the products formed/34, I B Soll A HH Bt &

2. Are at lower temperature than products/3d A APAAIREA

3. Have more energy than the products formed/3ull SdTG! &1 Soll A SATGT Bl &

4. Have equal energy as products/3&dil STGI b1 Sl & SRT&R 8ldl &

Correct Answer :-

. Have less energy than the products formed/$ul, IATGI &1 Hoif I HH gt &

76) A sentence with an underlined idiomatic expression is given. What is the meaning of the
idiomatic expression ‘bite the bullet’ in the sentence given below?

Tour operators may be forced to bite the bullet and cut prices.
1. None of the above

2. To do something gladly

3. To do something with a lot of enthusiasm and interest

4. To do or accept something unpleasant

Correct Answer :-

« To do or accept something unpleasant

77) The Madhya Pradesh Government has recently imposed a 50 paise cess on petrol and
diesel for financing ./ AR IRPR A gTa gl A ¥ faaiwor & fore deia oiik Sora
TR 50 T FTIUGR AT ]|

1. Education / TRr&f

2. None of these / 370 J Ps gl

3. Swachh Bharat Abhiyaan / W YR SHaE
4. Road infrastructure / 8& 3Tl

Correct Answer :-

« Road infrastructure / g% Il



78) Frog that feeds on insects is a/mﬁﬁﬁ?iﬂ%@ﬁé-
1. Tertiary consumer/Jaiad SUHIET §

2. Primary consumer/URRYe IUHET §

3. Secondary consumer/1§?-1’|1fl$G'Cr‘l-ﬁa?-ﬂ%r

4. Decomposer /3UdUcdh

Correct Answer :-

. Secondary consumer/fgadiae ITHIET &

79) The biggest Global Skill Park will be constructed at Bhopal with the support of a university
of WA LIk T F T fayfaemay 9 Geraar @ a9 g1 A Fiwra urd &1 fHufor
Hull

1. Thailand / Uisds
2. Japan / SIlUE

3. Singapore / RITMQR
4. Malaysia / HafRmn

Correct Answer :-

« Singapore / ﬁﬂ'ITER

80) Duralumin is a mixture of-/ SRR TSI fryor 3-

1. Copper, nickel and zinc/dtaT, fed 3R ST

2. Copper and zinc/ﬁ]wETa'GlﬁT

3. Copper and tin/dremd fea

4. Aluminum, copper, traces of mg and mn/Q?ﬂTﬂﬁ'qﬂ, Fl'lw'sﬂ, THRTH % wa SﬁTﬁTFﬂGT

Correct Answer :-

« Aluminum, copper, traces of mg and mn/TegHiaH, dfeT, A=IRET # wa 3R A

81) A Sentence is given with blanks to be filled in with appropriate words. Four alternatives
are suggested. Choose the correct alternative out of the four.

The problems of , homelessness and are all interconnected.
1. economy, wealth

2. extravagant, beggary

3. poverty, unemployment

4. miser, employment

Correct Answer :-

o poverty, unemployment

82) If the under given alphabets are arranged in proper sequence we get the name of a well-
recognized as per the Standard English vocabulary.



[R, T,E,M, U, C, I, R]
1. State

2. City

3. Spice

4. Currency

Correct Answer :-

83) By area Madhya Pradesh is the largest state in India./ easrammwnmu%.m YRd #
e TSI B

1. Fourth /Elﬂif

2. First / UYH
3. Second / fgdia@
4. Third / gdig

Correct Answer :-

. Second / fgdia

84) An electric charge in uniform motion produces/@ﬁﬁ?ﬂ'ﬂaﬂaﬂ, Wmﬁﬁmmél
1. Both electric and magnetic field/fdgad 3R TrdIg &7 QT

2. A magnetic field onIy/WﬂWﬂﬂHaﬂ

3. No such field at all/gHi & ¥ ®Is off & g1

4. An electric field onIy/Wﬁ@H&Dﬁ

Correct Answer :-

« Both electric and magnetic field/ﬁ@ﬂ‘d @TW & &l

85) In DOS the DIR command is used to_____ /DOSWDIRPHVS & fou swua fParsman g1
1. Copy files/ WISl 1 HIUT B

2. Display Information/WﬁUﬂ"\’ﬁ

3. Display list of files & Sub directories/ WIgal @ Yat 3R IU-FAERIBT B TefRid H

4. Delete files/ TT3dl &1 fediic B

Correct Answer :-

. Display list of files & Sub directories/ BT &I JT 3R IU-FAE w1 BT UelRia Hea

86) India exploded its first underground nuclear device at/YRd &1 Ugal YRFTa AA®Tg g wal
fawpie gan 31

1. Jaipur/ SIOYR
2. Pokhran/tl-’lw



3. Kota/®leT
4. Ranchi/3r

Correct Answer :-

« Pokhra n/tﬁw

87) 1f Saturday falls four days after today which is 6" January, on which day did the first of
December of the last year fall?/ af¢ TfaR el & IR fa7 91¢ 6 S=ad &1 §, o sifanadf & 1 fowrar &1

P ey
1. Sunday/lﬁa'l?
2. Saturday / YHAR

3. Tuesday/HTddR

4. Friday/ YshdR
Correct Answer :-

« Friday/ [shdR

88) The Bharat Bhawan at Bhopal was inaugurated by the then Prime Minister of India
. / YT & URA YT BT IgUTe HIRA & dehTa - T Tt BRI foam T AT

1. Rajiv Gandhi / Irsitg TTeft

2. Atal Bihari Vajpayee / 3cd fagRt aroud
3. None of these / 378 ¥ ®Is g

4. Indira Gandhi / $feRT TRt

Correct Answer :-

. Indira Gandhi / sfer el

89) Dinesh and Dipu can design an application software in 16 hours and 12 hours,
respectively. Dinesh joins Dipu 4 hours before completing the design, Dipu had started the
design work alone. Find how many hours Dipu has worked alone?/ ﬁﬁmaﬁ'\rz,"rqwqwﬂﬁv‘szm
HIPeAuR B AR 16 U2 3T 12 6 H fEET &% Tobd 8| fomwr fEoimg= g | 4 92 vga Sy & qry i
glar 21 $g A fEomg o srha Y= o o1 Farsd & iy A srdpd fPam oe @ «1d fhare

1.7

2
2.7

w
2w

Correct Answer :-

90) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.



A triangle whose three sides are equal is called an equilateral triangle.
1. that three sides are

2. No improvement

3. those three sides is

4. whom three sides are

Correct Answer :-
« No improvement

91) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

Either the manager or his assistants fails in his duty.
1. or his assistants failed in their

2. No improvement

3. nor his assistants fails in her

4. nor his assistants fails in his

Correct Answer :-

« or his assistants failed in their

92) The substances whose odour changes in acidic and basic solutions are known as:/dd,

o iy 3neiiy T & fawa # 9ga wTd! 8, Feard 8-
1. Acid base indicators/3 - &R Hdbddb

2. All of these/IURIad IHT

3. Olfactory indicators/SIToN Y ddb

4. Visual indicators/z<d dhdd

Correct Answer :-
« Olfactory indicators/HTol Ydhddb

93) Virtual memory allocates the secondary memory as a supplement/substitute for-/ a?jeﬁr

TR AFSHA TS FRwRefAed d wud smafed srar gl
1. EEPROM/ S3URH

2. EPROM/ SURM

3. RAM/RH

4. ROM/ 3H

Correct Answer :-

. RAMH

94) DIRECTIONS: In the following question, there are six parts marked S1, S6, P, Q, R and S.
The position of S1 and S6 are fixed. Some parts of the sentence have been jumbled up.



Rearrange these parts and choose the proper sequence from the given options.
S1. A fox sees a crow carrying a piece of cheese to a tree top.

P. The piece of cheese falls to the ground as it opens its mouth to sing.

Q. It goes to the tree and starts praising the crow that it can sing better than a cuckoo.
R. Hearing this, the crow beams with pride, and tries to sing.

S. It decides to get the cheese for himself.

S6. The fox picks up the piece and runs away.

1. PQRS

2. SQRP

3. RPQS

4. QPRS

Correct Answer :-

95) DIRECTIONS: Find the missing term in the given matrix./f&zn: & 73 aftew ¥ g J=n g &1 |

2 |5 |10
17 |2 |37
50 |65 |82
1. 20
2.27
3.32
4.26

Correct Answer :-

96) DIRECTIONS: Solve the number series given below./ = ﬁ%anﬁm oft Y gA B}
20, ?, 65, 125, 245

1.30

2.45

3.35

4. 40

Correct Answer :-

97) In MS Office 2007, Clipboard option is present under menu./ TATH ATTH 2007 H,

fRTTare &1 fdpea A Hielg 8|
1. References/w



2. Insert/ 379%
3. Mailings / Afel
4. Home/ gH

Correct Answer :-

« Home/ Eﬁ'ﬁ[

98) "New Comment" option is found under menu inside MS office 2007./ "¢ feuguft &1
faweq TaTd 3ifhd 2007 & 3G A9 F 3iata urar AT g1

1. Review/ﬂﬁ’l
2. Insert/E,-ZT\‘TcF
3. View /&

4. Home/ B

Correct Answer :-

. Review/ kg

99) Two conductors of resistance 2R and R are connected in series in a battery circuit. The
ratio of heat developed in them is:/UfaR1¢f 2R T R & ) Ira®] H A0ft A T St Afhe & SisT a1 31
ITH I~ ST BT 3JUTd §HTI-

1.1: 4
2.2:1
3.1:3

4.1:2

Correct Answer :-

100) refers to creating, editing, formatting, storing, retrieving and printing a text
document. / BT 3 B TP UTS FT XA ST, HUTG T, BT BT, WS BT, AU 3R SUTS B0

:l

1. Web design/ 94 f&oigA

2. Presentation Generation/ USicR SRR
3. Word Processing/ a8 U

4. Database Management/ ScTe U&e

Correct Answer :-

« Word Processing/ @8 Wi

Topic:- PCM

D han electromagnetic wave, the direction of the magnetic induction £ is:/fRigaa deafta a3 &, gaata txor B &t fam:

1. Anti-parallel to the poyntings vector  /uisfé™ afewr * & THR Bt @



2. Perpendicular to the electric field E /fagad &= Ey deaq | H

3. Parallel to the electric field &/ figud & E & amiar e &
4. Random/Sgad! Tgdt 8

Correct Answer :-

« Perpendicular to the electric field £ /figad &= E & daaq wwdi &

2) _E B

If ~ is an electric field and B is magnetic induction then the energy per unit area per unit time in electromagnetic

field is given by:/qﬁﬁwﬁ?ﬂam,EWWW%ﬁﬁ@HW%ﬁWﬁWﬁﬁmuﬁmwﬁ

Ef

o m

B

N
il
=

B

w
1l

4. E2 + B2

Correct Answer :-

3) o+ g+ a*h= i—b, a,be@?
If is the set of all positive rational numbers and a binary operation * in is defined as <

+
then identity element of the group [E'Jr *]is:/afe o Tt g uRAT | st @1 9=y @ e 0 o uep fgmr <fepar *

ab
a=b= =, abep®
=1 3o @ aivifia 21 2
1.3

?ramqs['yr *] BT ToHHD AT 3:

2.2
3.0

4.1

Correct Answer :-

o« 2
4) 3% 2% ) a_zf) 3%
@).’ by 8289/ (4 ) ¥ rab) . . . ﬁ)r by
Ifr= &bl g = “and t = ‘2%)then function f(x,y) has a maximum at (a,b) if:/ ¢ r = bl g =

=) ay
dxdy o

(@b) g = 7 (=), W f(x,y) , (a,b) UR I=TdH gRTT Afd:
1.rt-s2>0,r>0
2.rt-s2>0,r<0
3.rt -s2 < 0, r>0
4.rt-s2<0,r<0
Correct Answer :-

e rt-s2>0,r<0



5) H,0/HE Tollens reagent H,0/HE HEE G E

—_— —_— . —_— —_—
A (C3H;NO) B+C + ve Compound A is:/ A (C3H7NO) B+C +

ve TiIR® A 21
I
. H-C-CH,-NH-CH,

o)
I

H-C—NH-CH,—CH,
2.

, CH,—CH,—C—NH,

0O

4. MNH

Correct Answer :-

I
H-C—=NH-=CH,-CH,

6) Ly g dy
Particular Integral of the differential equation 2=* dx
iy o 2:

. E E.d-:z
7) O
I
COCH,CH,
) Ah KOH . Hs0* PCl LiAlHg H /A (X)
CHECHEO(l'.II ﬁDCHECH3

O O
Product (X) is :/gcurg (X) €|



Correct Answer :-

8)
For HOOC - (Cszz — CH - COOH Glutamic acid value oprav DK&E, DK33 are 2.00, 4.65 and 9.98 respectively. At which
|
®NH,

pH Glutamic acid will not be obtained during electrophoresis at any one of the electrodes. / 'cgt',llﬂwa il
HOOC — (CH.), - CH — COOH ® pKa,, pKa,, pKa, & HI-1 #421: 2.00, 4653117 9.98 & | =1 4 & #1-18 pH e fbl

|
“NH,

M gb gdagls @& gdaglwifa & & reerfie are 1l @)
1.6.012
2.7.325
3.3.325
4.4.65

Correct Answer :-

« 3.325

v sinx

Vsinx + +Jcosx

1]

=
|

el
W= | A

w
£l

4.0

Correct Answer :-



-

10) A vector point function F is called irrotational if: /TP afex ﬁ-‘g’ B F arqﬁfﬁm gafe:

11) aztb azth
T(z) = °=*4 is called bilinear transformation if:/ T(z) = c=+¢ g FuiaRor Hgamr g, afe:

l.ad-bc=0
2.ad-bc+0
3.ad + bc=0

4.ad + bc# D

Correct Answer :-

ead-bc#0
12) t2
X= —.
A 2 kg mass is acted upon by a force which gives a time dependent displacement of 2 The work done in

tz

the time interval 0 to tg is:/T® 2 fFIT SoTH F@ T W THT TR faeua= ;mmél At THY SR 0 9 tg
a® forar ar s g

1.0.5 tg
2. t?

3. t3

4. tg

Correct Answer :-

13) The rate constant of the reaction A — 2B is 1.0 x 10~3 mol lit~! min~1, if the initial concentration of A is 1.0 mole
lit™1 what would be the concentration of B after 100 minutes./3/f4fFaT A — 2B &1 a7 fAudi® 1.0 x 10~3 mol lit~1 min~1
21 afe A Tt URMIS TT==ET 1.0 mole lit™1 B, 99 100 e & UgTq B B Wisar &1 g1ft?

1. 0.9 mol lit™?!
2.0.1 mol lit™!

3.0.2 mol lit™!



4.1.8 mol lit™?
Correct Answer :-

« 0.2 mol lit™!

14) the generators of the additive cyclic group 1-13-1 are: /GRS TP 1T TG L-15-1 F oD 8
1.1, -1

2.-1, i

3.0, i

4.1,

Correct Answer :-

15) Curvature of circle of radius r is:/r ST & g« $t awpar 3:
1. 2r

2.1/r

3.r

4.0

Correct Answer :-

16) The minimum number of edges in a connected graph with n-vertices are: /n 2ol 9 T
S B YeAT3if B LATH BT 7

n

1.2
2n+1
3.n
4.n-1

Correct Answer :-

17) Minimum number of Boolean function in three variable is:/?ﬂqﬂﬁﬁwmﬂﬁwm

GE

1.8
2.2
3.6

4.4

Correct Answer :-

« 8



18) From a pack of 52 cards three cards are drawn at random. What is the probability that they

will be a king, a queen and a jack./52 Ul & T TSI & A 9 Ut gesman fAera o 8] 39 Uwl & P
ST, T I 3R b I[ATH B 3t uiiiepar «ar 82

64
1. 5535

16
5. 5525

3.52
4. None of these/%‘!ﬁ?fﬁ'&‘ﬁ

Correct Answer :-

16
. 5525

19) CANCELLED

Consider the following force: /fA gal &I dfifome:
1. Nuclear force/TMfYSG §@

2. Electromagnetic force /fagaadaea aa

4. Gravitational force/T¥dIg g

The correct sequence of these forces in order of increasing value of their magnitude is:/37% d¢d

g4 ufvumd & 3rgerH § A8t o g
1.3,4,2,1
2.3,4,1,2
3.4,3,2,1
4.4,3,1,2

Correct Answer :-

21) L {t? e =



Sl e

Sl

[
NCEPE

1
NCEDE

Correct Answer :-

(cosf + sind)® -
1. cosB -isin®
2. cosB + isinB
3. cos56+isin50

4. cos506 - isin56

Correct Answer :-
e C0s50 - isin50

23) Total internal reflection is obtained form when ray passes from:/'lIUf ST wRTad= wTa faar o gaan % wiq fpvof

et B

1. Not depend on the medicum/HISIH TR R '_-|_Eﬁ It %
2. Rarer to deser medicum/foRa & o= q1eqq &

3. None of these@ﬁ ﬁ aﬂg '_-|_Eapf

4. Denser to rarer medicum/J9 ¥ fava Aremd §

Correct Answer :-
« Denser to rarer medicum/J9  foRa wremm §

24) Three lines are drawn from a single corner of an FCC unit cell to meet the other corner
such that they are found to pass through exactly only 1 octahedral void, no voids of any type
and exactly 2 tetrahedral voids with 1 octahedral void. Identify the line in the same order./ T®

FCC U PIYPT & P TP fFIR ) s ST & 3 fFar) A e &9 Warsit & 59 uer diem srar
2 fr 3 Faa 1 swwasig RiTae:, fFft yer o F1F Rifdae ¥ 78 aur e 2 agwasta RiFesst & Ty e
ATEaPg RfFaerel # & Uy 3 et €1 3 6 A A 3@ F PR &) a5 |

1. Edge, Face diagonal, Body diagonal/ﬁ?, WW, P faemuf
2. Edge, Body diagonal, Face diagonal/ao;]?, P fael, Bow fawmof
3. Face diagonal, Edge, Body diagonal/Ww, DR, 1Y fgwol
4. Body diagonal, Face diagonal, Edge/ &1 fd&f, wa® fawul, Bk

Correct Answer :-



. Edge, Face diagonal, Body diagonal/®R, B fawul, o fasul

25) IUPAC name of compound is:/ Q1f1& &1 IUPAC AT 817 ?

Cl

Br

1. 3-Bromo-7-chloro-7-ethyl-3-methyl-5-(1,1-dimethylethyl)-5-(2-methylpropyl)nonane/3-8Hl-7-&iRI-7-

TA-3-AT-5-)1,1-SR AT TR)-5-)2-Afyafteg 99

2. 3—Bromo—7—chIoro—7—ethy|—5—(1,1—dimethyethyl)—5—(2—methylpropyl)—3—methy|nonane/3—@ﬁ-7—3€ﬁﬁ-7—

TRId-5-(1, 1-SEART TAQ)-5-(2-Afd Wite).-3-Hie= e

3. 3-Brom0-7-ch|oro-5-(1,1-dimethylethyl)-7-ethy|-3-methy|-5-(2-methy|propy|)nonane/3-§hﬁf-7-3§hﬁ-5-
(1,1-SSARE Tfe)-7-Td- 3-Afd-5- (2-Afya Wfad) 99

4. 3-Bromo-5-(1,1-dimethylethyl)-5-(2-methylethyl)-7-chloro-7-ethyl-3-methylnonane/3-81HI-5-)1,1-

BIATIURE)-5-(2-DfAuRe)-7-aaR)-7-Tfd-3- AR
Correct Answer :-

. 3-Bromo-7-ch|oro-5-(1,l-dimethylethyl)-7-ethy|-3-methy|-5-(2-methy|propy|)nonane/3-@ﬁ-7-m-5-
(1,1-S3ARd T)-7-ud- 3-0fd-5- (2-Afya Wfad) 9949

26) Systems are said to be in thermal equilibrium, if they have equal:/@fﬂ?ﬁaﬁaﬁmwﬁ
FET 1T § Ife 3% ford war= 2-

1. Quantity of heat / ST D A=
2. Temperature/ did
3. Heat capacity/ S HTYTRG

4. Specific heat /faf2sa HoAT

Correct Answer :-
« Temperature/ dU

27) As absolute zero all the valance electron in an intrinsic semi-conductor lies in: /93H d17 U,

Sal® srgara® & g Taieh A= ud SR:
1. Nothing can be said/$® -Tg! &gl ol Jabdl

2. Valance band/‘r'i?fﬁwa"s’

3. Forbidden energy gap/afsid Sl SicRTd &

4. Conduction band/Td® sg &

Correct Answer :-

« Valance band/da5/® &g

28) The total number of edges in a complete graph of n vertices is:/n Qﬁﬁﬂqﬁmﬁw\%ﬁ
I pA GBI R:



4.n%-1

Correct Answer :-

29) A compound (x) shows geometrical isomerism. On hydrogenation it can show optical
activity identify x./ & (x) saffa Turagaar uelRia #war 8| T eRul $31 W I8 USRS Afpaar
weRRfa sear gl

CH.,
IC&—CH=CH—£H—Cm

H o CH.
, CH:—C=$—CH

(T?H.;CHQ
; CHE—C‘,:é—C:H;

C.H:
, CH;=C=CH-CH,

Correct Answer :-

C.H,
_ CH,-C=CH-CH,

30) A compound (X) reacts in the following ways./ T& ifi& (X) 9 a8iel & fpar Hra1 3 -
BaCl, {aq) White
—'_,_'_'_,_,_'-'_'% =

(X)(aq) o S
precipitate’ Yg 31981y
Kl(aq)
NaOH{ag) -
Bright yellow NH.aq)
precipitate /
THBIEAT U B:gg"i';gl,chk Colourless
RGN f;\ﬂ !pm gy solution ' TIrAH faerH

The compound (X) is likely to be/ e (X) B
1. CaCrO4

2. AgNO;

3. Pb(NO3)>

4, Hg(NO3)2

Correct Answer :-



31) What is the relation between / % d¢0 &1 §a¢ g1

A N
and/ ¥t

PN

y)

P g OV gy

Pl

1. No relation/ 'S T&Y 81 @
2. Chain isomers/ $dl JATGIA!

3. Positional isomers/ RUfd TATaTdT

4. Homologues/ JHGITd

OH

OH

Correct Answer :-

« Chain isomers/ $Rgdl YHGYd!

The series "
1. Divergent /3IRY
2. Oscillatory/qIa BT
3. None of these /374 ¥ ®Is gl
4. Convergent YRR IR

Correct Answer :-

» Divergent /3TRIRY

33) For conservative electric field £ : / wf&mﬁgwaa E aiﬁl'l'{:

1 cur1§ =0

2 g‘randdivé"zﬂ
b
= 3
j Edl=0
a
4 divE =0

Correct Answer :-
. curl J‘__E" =0

34) Match List-I with List-II and select the correct answer using the codes given below in the
lists (n,1 and m are respectively the principal, azimuthal and magnetic quantum no.)/ R‘j@ﬁ-l Ca|



G- 1| & 1y AR SRR iR 7 A FiSt &1 Iuahr w2 TE W A (n, 1 3R m wun: g7 fvishy sk
YEPIT Hicd TS §)

List-I/ Tt -1 List-II/ Tt -11

(A) Number of value of 1 for an energy

level(n)/ T ol TR (n) & T 1 F A [ (1) 0, 1, 2, vevverrnee. (n-1)
D AT

(B) Values of 1 for a particular type of 3 8
orbit/ et IR TR 3 P B K17 1 BT (2) +1to -1 through zero/+1 ¥ —1 A
HH ;

(C) Number of value of mfor1=2/1=2

& R m & T} @ g@m (3)3

(D) Values of 'm' for a particular type of
orbital/ fardlt fAf3d TR & H&d & o™ | (4) n
'm' hT HIH

—

= | @

N
AP EYEE R

wlolsom|lolwlollsd|o
N|jglw|lolNvd|Olw|O

»
= >
B v e B e

Correct Answer :-

35) For the reaction of one mole of zinc dust with one mole of sulphuric acid in a bomb

calorimeter, AU and w correspond to:/ 95 aRiieR ¥ fiw guf & T dia @ fran Iemgfie ona & te
U & 91Y M & foe AU 99T w Bl =ifgul

.AU<O,w=0
2AU<0,w>0
3.3.AU=0,w<0
4.AU>0,w=0
Correct Answer :-
« AU<O,w=0

36) A stone left from the top of the tower and it complete half height of tower within 2 second.

What will be the height of tower if g = 9.8 m/sec?/T& HHFR & RIER | BIST T URR 2 95 H HHR Bt
3eft FETE UR B AT & A HAR &1 FIE Fur et afe g = 9.8 H/a.2

1.20 m/20 |t
2.39.2m/39.2 H

3.9.8 m/9.8 H



4.16.9m/16.9 Ht

Correct Answer :-

« 392m/39.2 7

37) Lenz’s law: /3dl &1 fAaH:

1. Tells the direction of induced e.m.f./G‘cCF{ﬁ.EIT. aaaﬁﬁsnaam%

2. Tells the direction of force on the current carrying conductor placed in a magnetic field/ﬁgﬂﬁ aﬁﬁ@@
fagad AT W o a1d 9o 1 e gar 8

3. In another form of Fleming’s right hand ruIe/ﬁﬁ‘T%ﬁﬂH%ﬁWW SN W%‘
4. Tells the magnitude of induced e.m.f. /Wﬁ.ﬂ.ﬁﬁﬂﬂm%l

Correct Answer :-

« Tells the direction of induced e.m.f./ 34=1 fd.a1. g &1 ez Sarar g

38) Television signals are:/%?ﬂﬁ\_ﬂ:rﬁrlﬁﬁﬁ?r?:

1. Both amplitude and frequency modulated/3Tgfi Td SATH 3FATG GHI
2. Amplitude modulated/3{dH 3T

3. None of these/37H ¥ ®1g g

4. Frequency modulated/3Tdfi 31

Correct Answer :-

« Both amplitude and frequency modulated/3{TqfxI Td R 3G I

39) centre of the conic x2 + 4xy + y2 -2x+2y-6=0 is: /ied x2 + 4xy + y2 -2x+2y-6=0

BT I ¢:
1.(-1, 1)
2.(1, -1)
3.(-1, -1)
4.(1, 1)

Correct Answer :-

40) Identify C in the following sequence of reactions:/ ra sifufesan leﬁ' C &I ugar=a|

CO.H
O-/ SOCk LA M3 ,pg_POw , ¢
h""CHj heat

CN

CH,

[y



4.

Correct Answer :-

CN

41)
Integrating Factor of differential equation

b Y
1+ a2
(1+x%) -

0y GY ,
14+ x2) = + 2xy = 4x2
( x)dx Xy x°

.-+ 2xy = 4x° .
x BT QUGS UNP 3:

1. % log (1+x2)
2. 2X

3.log (1+x)
4.1 +x2

Correct Answer :-

42) Unit of Poynting vector is: /UTS {1 Afes &1 7 @:
1. Watt/meter?/ dic/Her2

2. Watt/meter/dlc/Hiex

3. Newton/<Jc1

4. Watt/dle

Correct Answer :-

. Watt/meterz/ Tﬁ'c'/ﬂ 32

43) Resistivity of metals: /UTg3ii @1 UfaRIeHar:
1. Always varies as T°/gHRT dgdt S TS

2. Attains a constant value as temperature tends to absolute zero/dld & WRH Y UgaH W T Had IH R Ugd
STl 3



3. None of these/3H q ®Is gl
4. Is independent of temperature/d U ¥ W7 gldl &

Correct Answer :-

« Attains a constant value as temperature tends to absolute zero/ﬂ]ﬂ%WQﬁIﬁEﬂﬁWWﬁﬂﬁﬂﬁWﬁEﬂ

44) Which of the following will accept H* ion with fastest rate?/ g # @ $19 qad flger A H M=
P UGUT B2

Correct Answer :-

NH,

45) Which of the following of pairs of matrices has the same eigen values:/ﬁﬂmﬁﬁﬁﬂm
T AT TS U Tl 8:

1A A

2. A, A*

=]

3.A
4.A, A
Correct Answer :-

o A A



46) Which of the following will contain same number of atoms as 20g of calcium?/ e kkkac

209 PR & JUH URATU[SHT B T=aT 1WA § ?
1. 16g oxygen atom/16g Il GRATY]

2.12g carbon/lZgW

3. 8g oxygen gas/8g Sffefior g

4. 24g magnesium/24g iR

Correct Answer :-

. 8g oxygen gas/8g 3fTiIeT T

47) Which of the following statement is not true:/ﬁﬁﬁl‘@ﬁﬁﬁﬁﬂﬁﬁﬁﬁﬂiﬁé:

1. In the metric space every Cauchy’s sequence is convergent / g3 THD T TA® BN 3, MR §lar g
2. In the metric space every Cauchy sequence is bounded/gd% T H Td® HI 3HH, URTS 8IdT

3. In the metric space every convergent sequence is bounded/g3t® TR & Ud® ARY 3 HH UReG BT g
4. In the metric space every convergent sequence is Cauchy /wmﬁm SR S{hH, ?ﬁﬁﬂéﬁm%

Correct Answer :-

« In the metric space every Cauchy’s sequence is convergent / gii& T  Ud® BN 3HH, AR gar g

48) Which of the following statements regarding the structure of SOCI, is not correct?/ ffadAd
DI HYT SOCI, B T & T o Idt 781 8-

1. The oxygen -sulphur bond is P™ ~ 9™ bond./ sifefier-gemy ay P~ Mgy 3|

2. The sulphur is sp3 hybridised and it has a trigonal pyramid shape./3e®R sp3 THRd § dUT 39! Hpoig
foRfrd smefar 21

3. The sulphur is sp> hybridised and it has a tetrahedral shape./e®R sp> YHRA g TUT 3TB! IIWHADGIT

3TepTel B |

4. It contain one lone pair of electrons in the sp3 hybrid orbital of sulphur./ TIH, JeP &b sp3 THNd Hed o

AT BT TH THIH! T T

Correct Answer :-

« The sulphur is sp3 hybridised and it has a tetrahedral shape./JehR sp> YHRA § TUT THD! ATHABIT

3Pl B |

49) Which of the following is not correctly matched?/f 4 ¥ & #19 wdl AR A8 8 2
1. [FeCl4]% - sp> and paramagnetic/ FeCl,]%~ - sp> adl DI

2. [Fe(CO),(NO),]" - sp> and diamagnetic [Fe(CO),(NO),]" - sp3 aul Ufagdia

3. [Fe(CN)6]3' - dzsp3 and paramagnetic/[Fe(CN)6]3' - dzsp3 GEII Gﬂﬂﬁﬁﬂﬁ

4. Fe(en)313* -sp3d? and paramagnetic/ Fe(en)3]13" -sp3d? aul S

Correct Answer :-



« Fe(en)3]3* -sp3d? and paramagnetic/ Fe(en);]3* -sp3d? auT SIS

50) Which of the following is the best example of an elastic collision? The collision between /
T & & B A1 TR HUE BT 46 ISTET0T 82 T THIT

1. A truck and car/U& ¢& 3R T SR & g

2. A ball and the floor/Td Tig 3R ¥dg & &9

3. A bullet and the target/Ta Tl 3R T & &g
4. Molecules/ 3@%'@%{

Correct Answer :-

« Molecules/ 30 & &

51) Electrons can be accelerated to very high energies by mean of:/ SAaei- 9gd 3IfI® SHell A @ivd
B P g, fFaa-

1. Betatron/sfiergi=

2. None of these/3TH ¥ PIg gl
3. Cyclotron/ Wﬁ‘f

4, Thyratron/UEiEj':r

Correct Answer :-

« Betatron/diergiv

52) In LASER if n, is the number of atoms in ground state and n, is the number of atoms in
excited state, then for population inversion which statement is true?/ LASER ﬁ, gfe ny URHIY TYR
SARITH B 3R n, TRUTY Ife Iwfora et & 8 oY, Sie fAaia=T &1 /a1 § &1 AT HU= T gRI?

1.ny<<n,
2.ny >>ny
3.n1=ny

4.Nny1=ny=0

Correct Answer :-

53) x2 2 x2 2

—+ = = —S+ = =
The area of ellipse 2° b~ is:/dfgar e’ b7 P ATPd 3:

Correct Answer :-



54) In a 0.25 litre tube, dissociation of 4 moles of NO is take place. If its degree of dissociation
is 10%. The value of K, for reaction 2NO = N; + O is:/ T 0.25 dlex B! AAfre1 § NO & 4 il forg

T Tfg fargierT Y AT 10% 8 79 ffhar 2N0 = N, + 0, b R K, FTAF B

1
1. (18)°

4.7

Correct Answer :-

and b= ai+j+k are perpendicular to each other, then value of ‘a’ is:/afe

af a= 2i—3j +6k 3ﬁ-\,5’= ai+j+k TP g ¥ Gaad 2 4 a’ T A B

1. 32

55) pa= 2i-3j +6k

2.0
3.512

4.1/2

Correct Answer :-

e 312

56) Which statement is not true for a vector space. /WWW@%%’&@?WE}?WWH@T%I
1. The Intersection of a family of sub-space is a sub-space/ SUGHDE! & Ho BT A6 Th IUTHD BT &

2. The Intersection of two sub-spaces is a sub-space. /al SUGHARBT! BT T[S TH IUTHAD BT &

3. The union of two sub-spaces is always a sub—space/aﬁw@ﬁﬁﬁﬂm@m@m%

4. The union of two sub-spaces is a sub-space if and only if one is contained in other/al SUTHIPT! &1 ARIE
T IUGAM a1 € I 3R baet A ITH A T, R H efafdte 8

Correct Answer :-

« The union of two sub-spaces is always a sub-space/3l SUTHYYI &1 TY AN U IUTHP gidT &

57) Which statement is correct in a Boolean Algebra. /J&ia Sford & #19 A1 4= TE 21
1. (x.y) = x.y’

2.(xy) =x+y

3. (x+y) =x.y’

4. (x+y)' =x"+y’



Correct Answer :-

’

o (X+y) =Xy
58) The most stable isomers of glucose is:/ TSI PT 3fUF WA TG 3:

1. «c-form/«c-¥4

2. B-form/ B-=U

3. Aldehydic form/ TcS83S ¥4

4. keto form/ @Il ¥4

Correct Answer :-

e B-form/ B-=U

59) Amorphous boron on burning in air forms:/3fhey IR a1 ¥ @M W FICT &:
1. B(OH)3

2. Mixture of By03 and BN/ of B,05 4T BN &7 g

3. Only B,05/%ad B,05

4. Only BN/ &dd BN

Correct Answer :-

« Mixture of B,O3 and BN/ of B,05 T BN &1 figiur

60) Two charges q; and q, are placed close to each other. If a third charge q3 is brought near it,
the force now exerted by q; on qz./ﬁmql ﬁ?qzwﬁ$W-WQ@§E%, Hﬁt{ﬁm&mq3
S T AT ST B < q4 §RT q IR T 741 9:

1. Remain the same/3afafdd X

2. Decreased/‘a'c'\_rlTaTﬂ

3. Increased/ §¢ ST

4. Reduced to practically zero/ge® AT Y B SR

Correct Answer :-

« Remain the same/3MaRafdd 3g7

61) If G is a subset of a metric space X. Then G is open if and only if each point of G is:/df¢ G

et g8t waedt X &1 Suag= 31 99 G faga ghm, afe ok Faa afe 6 &1 vdw farg 8:
1. An interior point/Td 3aR® farg &

2. An external point/Td STgd farg &

3. None of these/3T8 ¥ @IS gl

4. A boundary point/T® T fag 8

Correct Answer :-

« An interior point/Td& 3fidlRke® fag 8



62) Poling process:/ UifeRT faftr #
1. All of the above are correct/maﬂ‘érlﬂﬂ%pf%

2. Oxidises impurities like iron and removes as scum/3{RA & g 3HRAPd BB ThH (BIIS) P U H GUD
GRik

3. Reduces Sn0O, to Sn/ SnO,, Sn & TR BT g
4. Uses green poles/ﬁ@ﬁuﬂaﬁmﬁlm%

Correct Answer :-

« All of the above are correct/ IWRiad 94 T &

63) The correct stability order of following carbocation is./fRufeRad SrdeAr & WA &1 98
PHRI

)
@ @ @ Cf H,
(i) (ii) (iii) (iv)

Liii > i >ii >iv
2.0 > ii > iv > iii
3.0v > i > il > i
4.0 > iv > i > i
Correct Answer :-
e i > Qv >iii >

64) The correct relationship between the pH of isomolar solutions of Na,O (pH;), NasS (pH>)
Na,Se(pH3) and Na,Te(pH,) is:/ Na,O (pH;), Na,S (pH,)Na,Se(pHs) T4T NayTe(pH,) & THHITR
fae T @Y pH & we T T g

1. pHy < pH> < pH3 < pHy4
2. pH; < pHy < pH3 = pHy4
3. pHy > pHy > pH3 > pHy
4. pH{ > pHy = pH3 > pHy
Correct Answer :-

* pHy > pHp > pH3 > pHy

65) Very thin foil of gold was used in scattering experiment, why?/ e (ﬁﬁlﬁ) F 7T # wauf #Y
g g yaeht u=i IuT # @rg ot 8, e

1. Nothing to say/$® &gl gl off Fdbdl
2. It was done to reduce of cost/d HIAd B! HH B P foIT fHaT ST &



3. It is not necessary/Jg Sl 781 &
4. It was done to avoid multiple scattering/3 SgGS Thalld &I g B P ford farar ST 8

Correct Answer :-

. It was done to avoid multiple scattering/3 Sg€aIg HaTd &I gR HA & ford faar orar §

66) What will be the speed of longitudinal wave in steel. Young’s modulus for steel is 3 x 101"

N/m?2 and its density is 1.2 x 10 kg/m>./ 3rJ¢ed a=71 & gxuTd & 7fq 7 gWft srafer STt ¥ 1.2 x 10% franAfie sk
T YTRIET I 3 x 10'° g2 §:

1. 500 m/s / 500 H/&
2. 5000 m/s / 5000 Hi/&A
3. 400 m/s / 400 H/A

4. 4000 m/s / 4000 HY/J

Correct Answer :-

« 5000 m/s / 5000 H/A

67) D" log (I+x) =

(—1)"n!
1 {(1+x)™

D" (-1

5. (1+x)™

D" -1t

n—1
3. (1+x)

D" (n—1)

ntl
4 {1+x)

Correct Answer :-

D™t (n—-1)
(1+x)"

68) The number of moles of oxalate ions oxidized by one mole of MnO," ion in acidic medium

is:/ AT WIEaW § Mn0,~ 3T & TP Wd gRT SiTRiIpd fhd T sifadde ma-l & Hidl & =g

LA

Fa| Ln

4.

Correct Answer :-

o 2



69) A field effect transistor is a:/U® faaR W@ Tiforex &:

1. Unipolar device/Ud Ydra gfad

2. Special type of bipolar junction transistor/@ﬁlﬁﬂw%%ﬁﬂmm
3. Device with low input impedance/ﬁﬂﬁﬁl’[mwlﬁﬁqﬁf

4. Uni junction device/T&d Sf% gfad

Correct Answer :-

« Unipolar device/T® Ydig gfaa

70) A scientist claims to have developed 60% efficient engine while working between 27°C and

3279C. Does he claim right? /T AP 60% G&IdT BT FoI- a1 BT graT HdT il 27°C 3R 327°C & i &k
P 8, TT SUPT 31aT TS 82

1. No/=Tg!
2. More than 60% may be achieve/60% 3 saral 4 UTe foar 51 qabdr 8

3. Can't say anything/$® &gl gl ol dbdl
4. Yes/ﬁ

Correct Answer :-

« No/g!

71) A person has heart beating 72 times in minute. Find the frequency and time periodlmaﬂ%

¥ foa  yso Te fAfe # 72 € ot ST Mgy 3R smadere ghm:
1. 1.2 Hz and 0.83 second/1.2 B¢4l 3R 0.83 YHS

2. 3.2 Hz and 8.3 second/3.2 8¢% 3R 8.3 Ah S

3. 2Hz and 0.8 second/2 B‘chrr 3R 0.8 JHg

4.2.3 Hz and 0.88 second/2.3 8¢9 3fR 0.88 YFH S

Correct Answer :-

« 1.2 Hz and 0.83 second/1.2 B¢g 3iRR 0.83 Y5 S

72) A rod has a radius of 100 mm and length of 10 cm. A 100 N force compresses along its length.
Calculate the stress developed in the rod./T& s foraa! =4t 100 frft sk &g 10 9 B, 100 gea w190
ISP daTg B! THfET A T wanT far 5irem 8, T8 W U~ ufaad &1 TET H1 |

1. 3184.71 N/m2/3184.71 /42
2. 100 N/m?2/100 ge-1/Ht2
3.3841.71 N/m?/3841.71 =g-/Ht2
4.300 N/m2/300 e-/H2

Correct Answer :-

. 3184.71 N/m?/3184.71 gg/H2



73) A thin oil film appears coloured in white light because of:/WqﬂFﬁaﬁ?ﬁW mmmﬁ'
it fPad prRu fearg ot @2

1. Interference/safdRl

2. Diffraction/fdad=

3. Deviation/fageH

4. Variation of refraction induce with wavelength/ﬂ?"'l%‘@c%w%l 3uqaHi® o uftadd o

Correct Answer :-

« Interference/afd&®m ol

74) A Young fat girl dances with high velocity, she will appear to her stationary friend:/Q?ﬁEﬁ'c"f

HIEI TSP A T A T P 1 ¢, A1 AT oo FRR W1 5% o ) fyah:
1. Less fat/&H HIE

2. More fat/sgTal HIS!

3. None of these/3TH ¥ ®1s gl

4. Of same dimension/3¥! ARE

Correct Answer :-
« Less fat/&H Hiel

75) An oxide of carbon (X) reacts with ammonia to produce urea an important fertilizer. Which
of the following combinations will not yield (X)./®Ta- &1 T& 3HTa15S (X) AT & A1y fopar &
i ST € S P, T e g IfR® & i # @ SR W @ (X) T e g

A
1 HCO; + HCl ——

A A
5. Ca0 + Excess 0, —,Ca0 + T 0, ——

- A
5 €03 + HA ——

A
4CaO+C—>

Correct Answer :-

A
, Ca0+C——

76) Formula for central difference operator is:/F-50 3R YHRS &1 A 8:
EYZ _ g-i/z

1. 2

E /2 _ E- 1/2
2.

3 EYZ 4 g1z

E 172 + E- 1/2
4, 2

Correct Answer :-

E 12 _ E- 1/2
L]



77) The half-life of 214Bi is 20 min. What fraction of a sample of 214Bi will remain after 2h?/ 214Bi &}

3 AT BTt 20 FATe § Y, 2 6 & 91 214Bi & AYA BT I AW -

1
1.6

4. 20

Correct Answer :-

78) The hall effect is used to measure:/ Wﬂ%gﬂ'ﬁ?ﬁﬁﬁt@ﬂﬁﬁﬁﬁ%l
1. All of these/d aft

2. Determination of carrier concentration/m?ﬁma? ﬁw&m%g

3. Determination of mobility/Tfc=fterar & Fufkor 8g

4. Determination of hall angle/mﬁm%ﬁ%ﬁ?ﬂ%ﬁ

Correct Answer :-

« All of these/a g+

79) The r.m.s. value of alternating current I, and its peak value I, are related to:/Wﬁ?ﬁ‘irRTa?
E W1 T 1y, BT A SR 3P IS AH Iy b & Ha e 2

1. Iy = 2lrme
I = Ir:%s
2 v
foone = 2
] rms \-’E
21,
Irms ?

80) The relationship between the phase difference ¢ and path difference x is: /Fdidx ¢ 3R TYTeR x
F U Y9Y BT 3:

1. 0 = 2mAx



2?7

Correct Answer :-

81) The nuclear reaction: /Y& fosar

H* _, 9He* _qe®
1 275+ 2-1% 436 Mev represent:/ﬂ'&]‘ﬁﬁ%
1. Y-decay/ Y-&@

2. IE'—decay/ ﬁ-&ﬂ
3. Fission/fdge

4. Fusion/Iera+

Correct Answer :-

« Fusion/dag4

82) The intensity of magnetic field due to current I in a long straight wire is proportional to: /T®

a WY IR A 4aIfRd URT I & FRUT ST GaD 17 & B fiaar JHruTR gidt 8:

83) The speed at which moving particle mass is in order to double of its rest mass is:/dg i fore

TR A BT BT R U 3T SR HH T g1 JR:

10 10
1. 2.60x 10 m 2.60x 10 HA

/s/

= =
2. 2.60x 10 m 2.60 X 10 HA

/s/

= g
3. 6.20x 10 m 6.20 X 10 HA

/s/

g g
4 1.30 X 10 m 1.30 X 10 HA

/s/

Correct Answer :-

g 8
. 2.60x10 m 2.60x 10 HA

/s/

84) The mass of a uniform circular ring of radius 0.2 m is 0.1 kg. The moment of inertia of the ring
about an axis passing through its centre and perpendicular to its surface will be:/@ﬂ'ﬂ'ﬁgﬁﬂ'ﬂ



& (@er) 3 Fsar 0.2 Wex 3R 5w 0.1 f501 31 900 &1 SIS Syl WS 31e & URa: o s | ToRar g1 3R
Tde & daad 81, & foe ghm:

1.4 x 102 kg/m?2 / 4 x 102 faom/mex2
2.4 x 102 kg/m2 / 4 x 102 fun/Hiex2
3.4 x 10> kg/m? / 4 x 10° fun/mex?2
4.4 x 10 kg/m? /4 x 1073 fpon/mex2

Correct Answer :-

. 4x103 kg/m?2 /4 x 107 feu1/Hiex2

85) The electric field inside a spherical shell of uniform surface charge density is: /T® Mg @A
Tag et Tae R Te 99 1A% 99 §, & e fagad & o digar gt

1. Non-zero constant/Ud fidids Sl I 9 81

2. Inversely proportional to distance form centre/&=% ¥ g3l % ehHIUT gl &
3. Zero/}™

4. Directly proportional to/ %% d g3t & FHU gidt &

Correct Answer :-

86) The Gauss elimination method is a/T¥9 - fd@iu= faftr vs @:
1. Direct method/W&‘fﬁf@[

2. Indirect method/ 3@ fafey

3. No method/®Ts fafd =t

4. Three way method /a1 AR fafer

Correct Answer :-

« Direct method/ude fafd

87) Brewster’s law is:/ 3% &1 FOH 8:

1 u=tan i,

2. Ip+r=tan p
3. Ip=tanp

4 i, =sin p
Correct Answer :-

. u=tan i,

88) The reciprocal equation of the equation x? + x + 1 = 0 is:/IHHIx2 + x + 1 = 0 BT HchH
e g:



L.-x2+x+1=0
2x2+x+1=0
3.x24+x-1=0
4x2-x+1=0

Correct Answer :-

89) A large difference between the third and fourth ionization energies indicates the presence

of:/fa A | frue SufRufa & wror R vay 9ift s et & 7w ue 954 981 sR ueRfa gar g
1. 3 valence electrons in an atom/EITFﬂUjff 3@@3@5@?
2. 4 valence electrons in an atom/EITHijf 4 Wﬁﬁgﬁaﬁ'ﬁ
3. 5 valence electrons in an atom/QTEI'I'Ulﬁ 5 TSIl geai-
4.2 valence electrons in an atom/ URHIY] § 2 ISl Saag

Correct Answer :-

« 3 valence electrons in an atom/UATY] § 3 TSl Scidg

90) 2.5 L of a sample of a gas at 27°C and 1 bar pressure is compressed to a volume of 500 mL
keeping the temperature constant, the percentage increase in pressure is:/ 27°C 9 3R 1 IR

M R TP T & 2.5 L TA Bt 500 mL & AMIa aF quiifea o3a €, ord arg fHaa wgar 8, ag ge & fvaq %
qf& grft

1. 80%

2. 500%
3.100%

4. 400%

Correct Answer :-
« 400%

91) If T : U — V is a linear Transformation then R(T) is:/ 3 T : U — V T& I UG § 99 R(T)

f

1. None of these/3TH ¥ HIs g

2. Sub space of U/U BT IUGHD

3. Sub space of V/ V &1 U9

4. Sub space of U and V both /U 3R V g &1 IugHD

Correct Answer :-

« Sub space of V/ V &1 IUGHP

92) Entropy remains constant in-@i“fﬁﬁ'&ﬁ%‘cﬁﬁ-

1. Cycle process/Jsh1a U H



2. Isothermal process/gHard! UshH o
3. Adiabatic process/GI™ UHH H
4. Isobaric process/ﬂﬂaﬁﬁwﬁ

Correct Answer :-

« Adiabatic process/@mwﬁ

93) The force on a charge 'q’ placed in a uniform electric field E will be:/ Wm‘q'aﬁm
fagga &7 E & v R @ arar 9 ghm:

N
il mlhe

0 ml

4.

Correct Answer :-

94) For which of the following change AH # AE?/ fA9 # ¥ {9 uRada & oW AH # AE 82
1. HCI(aq) + NaOH(aq) — NaCl(aq) + H,O(1)
2. Nz(g) + 3H3(9) — 2NH3(9)

3. Hy(9) + Ix(9) — 2HI(g)

4.C(s) + 0,(g) — COx(9)

Correct Answer :-

* Nx(g) + 3H3(g) — 2NH3(9g)

95) For which of the following physical properties magnitude for compound II is greater than

1./ e & @ S wifas 7o G 11 &1 9ife 19 sifie 8-

A A

gf '\\\ jf' \\.\
d//‘ \) and / T20 / \\"s‘
Cl M o Cl (n ©
1. Dipole moment/ ﬁﬂa Gﬂ‘q;Uf

2. Solubility in water/ @ # facrgar
3. Boiling point/ &Yi®
4. Stability/ ®ITR@

Correct Answer :-

« Stability/ ®ifrQd



96) HCI molecule is:/HCI 3] 8:
1. Basic/STUR
2. Neutral/Mfsrg

3. Non polar/B{QTﬂ?J

4. Polar/g?ﬂﬂ

Correct Answer :-

. Polar/"gfqﬁﬁ

97) In a binomial distribution n = 48, p = 1/4. Then standard deviation is:/ Wﬁ'ﬂ?{'@iﬂﬁn =
48, p = 1/4 99 4H® faaa :

1.3
2.2
3.6

4.4

Correct Answer :-
« 3

98) A teacher one day pointed out to his students the preculia fact that water is unique liquid

which freezes exactly at 0°C and boils exactly at 100°C. He asked the students to find the
correct statement based on this fact:/U® A0S = T &1 o= faenfal &) frgpferar o & ark § qarn

o5 arit €t U AT 59 @ ST 0°C R STHGT @ 94T 100°C TR I9adT 2| feamye 2 faenfiay & 59 aw w snutia
G HYF DI UgdH & g gt -

1. Water dissolves anything however sparingly the dissolution may be/ Sid it &1 faea @var g bR oft siifdre

gerTRierdr 8 e &
2. Water is a polar molecule/ S/d U& Ydig (0] §
3. Liquid water is denser than ice/ﬁWWWWﬁWﬁ 3fYH I 8

4. Boiling and freezing temperatures of water were used to define a temperature scale/STd & HYFIH qdl

femiep fomg aromM IAM & gRya B  Suaih 81d @

Correct Answer :-

« Boiling and freezing temperatures of water were used to define a temperature scale/SId & HYHi® qUl

fewies famg aomM M &) aRvifid & & Suarf gia §
99) Ionosphere consists of: /3T HEd A gId &
1. Only the positive ions/dad YATHS T

2. Only the neutral particle/w JaRIH B

3. Only the free electrons/dad gad SAd

4. Free electrons and positive ions in same number/Hdd scldm;Tﬂ 3R YD Wiﬁ:ﬁﬁwmﬁ

Correct Answer :-

. Free electrons and positive ions in same number/Hdd SAa 3R YHTHD T G a1 THM e §



100) Among the following species, which has the minimum bond length? /% wii=fier & 9 fraat
TR TS YAGH 872

1. Fy
2.05”
3.Cy

4. B>

Correct Answer :-



